Name Using parentheses

with addition
L TV T,

A-Mazing Eighteen

. The answer to an addition problem is called the sum.

Find the path that leads from the mouse to the cheese by following the sums of
eighteen. Add.

(5+4) +(3 +6) (7+6)+5 (5+6) + (4 +2) (7+5)+7 3+ (7 +5)
4 + (6 +6) 3+(8+7) (5+3)+(3+4) (4+6)+5 (5+9)+3
(9+2)+6 (5+3)+ (6 +4) 2+(8+8) 8 + (6+2) (4 +5) + (2 + 5)
5 + (6 + 6) (6+6)+(4+6) | (2+3)+(9+4) 3+(7+5) (6+7)+6
(7 +8)+2 5+ (4 +6) 7+(@4+7) (5 +6) + (4 +3) (8+4)+6

\\/,
Write another number sentence with 18 as the sum. Do not use a
number sentence from above.
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